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ZRERBENRIER 57 %5 IRE WAL IS TH A RSTR

s L& =LA SHIES HiA#ES AR5 #/E
1 J& B IR SS X 34011 1wkksokaix3017 1 75. 74
2 J5 B AR 5% < 34032 [skskokokokkx3117 2 77. 20
3 J& B IR SS X 340103 %kksk0k%1512 3 73.76
4 JE B AR 5% < 3422224 k%kkkxx(0418 4 61.94
5 e B AR 5% X 34010 Ikkkkkrxx0013 5 79. 50
6 JE B AR 5% 340103x%skkkxx%401X 6 79. 58
7 e IR 55 3411 24%kxxxx%%0013 7 74. 96
8 J B AR 5% < 34260 I#skkkkkxx2750 8 76. 10
9 e R 55 5 341222skkskskokkk 4370 B
10 5 R 55 34012 1kskskskskokk k9116 B
11 J& B R 55 4 340123sksekoksekk0833 e
12 5 IR 55 34262 3%kkskkkkk8118 B
13 S5 B AR 5% 34011 Ikskskskskkkk 351X B
14 JE B AR 5% 34222 2%kkkkxx%0435 B
15 A 45 14 340104kkkkxx%2023 1 81.44
16 A 45 1 34220 I kkkokkkx 1620 2 77. 24
17 A 5% i 340404skskskskskkk0026 3 81. 82
18 A 5% 342422%k%*k*kxx1100 4 77.58
19 WA 4% 342425k xxxxx%0545 5 74. 34

20 I %5 b4 3401043kt 1 568 6 77. 60
21 WA 55 i 3401 22skskskskokokk 2420 7 78. 72
22 W 5% i 34081 I#sokkrtork4029 8 77.20
23 4 55 B4 341 125%kkik024X 9 77. 34
24 W 5% 1= 340104skskkstkok 1524 10 81.72
25 A 45 14 340103 skskkx4%352 1 11 67.06
26 A 5% 460002%*k*kxx4%%342X 12 67.04
27 WA 5% i 34012 3skskskskskokokk 7106 13 72. 96
28 A 55 340102skkkkkxx1 02X 14 81.62
29 WA 5% 34262 3kkkskskokokk 5348 15 81.24
30 W 5% i 340123skkseletsiolek 0027 e
31 WA 5% 34262 3kkkskkkkk8526 B
32 W 5% i 34242 Teksototiokk 3745 e
33 Wt 55 B 340826kkksksckokk 2624 bt
34 W 5% 1= 3401 1 Ieksoleteolok 7586 e




